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a b c 4a+5d+6g 4b+5e+6h 4c+5f +6i
1. -+ A=|d e f|>B=| 2a+3d 2b +3e 2c +3f
g h i a b c

¢ sedet(A) =5 > 3K (1) det(At)=? (2) det(B)=? (12%)
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2. ¢ aAT={0 1 —1]> @R (1) det(A)=? (2) A=? (12%)
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3. - ELA=l|a, a, 17| #*?a eRx® i trace(A)=6 &
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det(A) = —30 » 2R A 2 E e % 72 (9%)
4. Rz e g x=[1010], x¥*=[2121], x*=[02 -2 2T

2B YY) (6%)
gyt e (6%)

(1) 1‘"%7? A o B
2 #&4'*’{x NG x}h

l\ﬂ‘ h—-\
[rmL <
(w

= \4

2 0 1
5. ¢ awA=|0 2 1| #RK:
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(1) A 25 02 (3%)

(2) A®—11A*+65A% —92A+391 =? (6%)

(3) F AT =pA*+gA+rl s B p=?, q=?, r=2 (6%)

(4) ## A i 5 Jordan form > ¥ A=SJS™  (6%)

(5) 2 Jordan form ;z 2+ 5 A® —11A" +65A% —92A+391 =2 (6%)
6) £ AT=5IS" Bl J=2 (3%)

6. &7 A28 13x7 +10X,X, +13x5 =72 » 3 = = ;%% (quadratic form)#-2_ i
BIigh TEELRETE X =[x X,] ##IFEESEY =[y, V,]°
R 2EEL #?(6%)

() 2= 2 4 P 582 (3%)
(3) fw A} eh¥ - B> HEEH R BEERGEESR L R ? (2%)
(4) Q=13x7 +10x,x, +13x; 3 w44 = = 4? (2%)

(& T~ f T A7 23))

. X, =5x, +8x, +1
[O=-1 S 2 x0)=4, x,(00=-3 - (12%)
X; =—6X, —9x, +t
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